A L # B =
A # B B TRE 2945 H 1 H 11:00~ IEFER EEEIREER
I E 4 MEFERKEEBISE
I E B A | AWFEERET F /X N
2 B A (BAENEERIZEOEEZNICERIIEEHRFAILSNEDIEREEICEDEIEREITO-.
S ER(FAH) 3,996,000 FEMEEFRIRE) 3,790,000 K HIPR A& (Fe ik E) 2,943,000
. - A # B (FH % fL |
50 I
B &% % & 4 (505E) % 1 @ = 2 O %= 3 O )
W A2 5% 3,862
@/NERERKE EEPI
(B)FFEEER 3,870
(B AR+ #E 3,940
IR A 3,810
(B)FEEx 3,910
BT MREER 3,800
GEFEEX e EEPI
RBEM 3,820
hE 2B 4,090
A ERGR 4,800
s H N EER 4270
(GEUEEH 3,700 3,700
ZHOEFES BeXIEa# Xt FOEFHGEAFEE6400001007840) | 28 #% H H |[Fm 29 %F 5 A 10 A
" 53 i B BT K F8EK4-83-17 I #EF) FRk 2958 15 H
+T 1.0 T HI(GGERR) R 29 £ 8 A 29 H
ARV IEME R T (HoTH) 63.0m %
SHiET 15.8m

{55 : AFLEECEFLEE) (CHEXEEDB8 %I E I D REEEME L - EEAVEE L O AFLMBCEALEIR) TH D,




